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LEFT SIDE (ODD PARITY) CODES
1|2[ala[ss[7] [1]2[3]a]5]6[7] [1]2[aa]s]6[7] [1]2]3]a]s]6[7] [1]2]a]4|5]6[7] [1]2[a]a]s]s[7] [1]2]a]45]6[7] [1]2]a]4[s]6[7] [1]2]3]4]5]6[7] [1]2[a]4]5]67

0 1 2 3 4 5 6 7 8 9

0001101 0011001 0010011 0111101 0100011 0110001 0101111 0111011 0110111 0001011

RIGHT SIDE (EVEN PARITY) CODES

',214':5?',214':5? 1]2|3]a[5]6[7] [1]2[3]4]s]6[7 ,214':5?',2 7] [1]2[a[4]s]6|7]"[1]2]2]4]5]6

23,5 ,23,5 3/4/5/6

1110011 1100110 1101100 1000010 1011100 1001110 1010000 1000100 1001000 1110100
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Como calcular el “digito verificador™:

ollllg7 65413270091

Calcular (modulo 10):
(9+7+5+3+1+9)x3=2 2+8=0
8+6+4+2+8=8




1017 - 1011010

Codigo (7,4,3) de
Hamming
(1950)

- : 1071070 »enernnnns » 1001010
Richard Hamming Bl

(1915 -1998) il odd } bit 3 is False!
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